Uncategorized
Metric \ Size(+
Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

a =

Uncategorized

Metric \ Size(+,-)

Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

True Value

0.7416, b = 1.0000, alpha
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H
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H
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H
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H
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H
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H
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H
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True Value

1.4660, b = 1.0000, alpha

(25,25)

.00

(50,50)

(25,75)

(100,100)

(50,150)

(20,180)

Categorized at FPF = (
Metric \ Size (+,-)

Categorized at FPF = (
Metric \ Size (+,-)

0. 0.8549 + 0 0. t 0. 0. + 0. 0. + 0. 0. + 0. +

0.5732 0.5923 # 0.0028  0.5843 * 0.0019  0.5859 * 0.0021 ~ 0.5793 £ 0.0014  0.5800 * 0.0015  0.5832 * 0.0021
0.4290 0.4538 + 0.0032 = 0.4426 * 0.0022  0.4425 % 0.0024 ~ 0.4365 % 0.0016 0.4365 + 0.0016  0.4382 * 0.0022
0.0399 0.0427 # 0.0003 = 0.0413 * 0.0002  0.0413 * 0.0002 ~ 0.0407 % 0.0001  0.0407 * 0.0002 ~ 0.0409 * 0.0002
0.8500 0.8532 * 0.0010 = 0.8523 * 0.0007 0.8517 * 0.0009 ~ 0.8517 % 0.0005 0.8514 * 0.0006 ~ 0.8511 % 0.0009
0.5732 0.5877 £ 0.0029 | 0.5820  0.0020  0.5822 % 0.0022 ~ 0.5791 % 0.0014 0.5794 + 0.0015  0.5803 % 0.0021
0.4290 0.4524 # 0.0033 = 0.4414 # 0.0023  0.4400 * 0.0024 = 0.4364 % 0.0016 0.4360 * 0.0017  0.4357 % 0.0022
0.0399 0.0424 # 0.0004 | 0.0407 * 0.0004  0.0409 * 0.0003 = 0.0400 * 0.0004  0.0397 * 0.0004 ~ 0.0402 * 0.0003
0.8500 0.8499 * 0.0011  0.8503  0.0007  0.8498 % 0.0009  0.8505 * 0.0005 0.8501  0.0006 _ 0.8500 % 0.0009

.01, .10, .25)

True Value  (25,25) (50,50) (25,75) (100,100) (50,150) (20,180)

0.8500 0.8339 * 0.0013 | 0.8451 % 0.0009  0.8425 * 0.0011 = 0.8486 % 0.0006 0.8469 * 0.0007  0.8432 % 0.0011
0.5732 0.5907 # 0.0030 = 0.5848 # 0.0020  0.5823 * 0.0022  0.5799 % 0.0014  0.5785 * 0.0015  0.5790 * 0.0021
0.4290 0.4688 * 0.0036 = 0.4475 * 0.0024  0.4444 % 0.0025 0.4384 % 0.0017 0.4369 + 0.0017  0.4371 % 0.0022
0.0399 0.0447 # 0.0003 = 0.0420 * 0.0002  0.0418 * 0.0002 ~ 0.0409 % 0.0002 0.0408 * 0.0002 ~ 0.0409 * 0.0002
0.8500 0.8470 * 0.0011 = 0.8473 * 0.0009  0.8454 * 0.0010  0.8489 % 0.0006 0.8473 * 0.0007  0.8455 % 0.0010
0.5732 0.5962 * 0.0028 = 0.5837 * 0.0020  0.5819 % 0.0022 ~ 0.5794 % 0.0014 0.5778 + 0.0015  0.5782 % 0.0021
0.4290 0.4686 * 0.0033 = 0.4466 * 0.0024  0.4439 * 0.0025  0.4380 % 0.0017  0.4363 * 0.0017  0.4359 % 0.0023
0.0399 0.0443 # 0.0004 | 0.0417 * 0.0003  0.0413 * 0.0003 = 0.0403 * 0.0004 0.0401 * 0.0004 ~ 0.0404 * 0.0003
0.8500 0.8096 + 0.0011 _ 0.8100  0.0008  0.8097 % 0.0010 _ 0.8107 * 0.0006  0.8103  0.0007 _ 0.8100 & 0.0011

.20, .60, .80)

True Value  (25,25) (50,50) (25,75) (100,100) (50,150) (20,180)

0.8500 0.8278 * 0.0016 | 0.8452 * 0.0009  0.8308 * 0.0014 ~ 0.8486 % 0.0006 0.8471 * 0.0007 ~ 0.8206 % 0.0016
0.5732 0.5294 * 0.0042 = 0.5488 * 0.0030  0.5386 * 0.0034 ~ 0.5640 % 0.0020  0.5562 * 0.0023  0.5427 * 0.0033
0.4290 0.3971 £ 0.0045 | 0.4066 * 0.0033  0.3970 * 0.0038  0.4201 * 0.0023  0.4103 + 0.0028  0.4020 * 0.0039
0.0399 0.0356 + 0.0004 | 0.0382 * 0.0003 0.0357 * 0.0004 ~ 0.0393 £ 0.0002 0.0385 + 0.0003 ~ 0.0347 % 0.0004
0.8500 0.8474 £ 0.0011 | 0.8476 + 0.0008  0.8476 * 0.0010  0.8488 * 0.0006 0.8486 * 0.0007 ~ 0.8485 % 0.0009
0.5732 0.5515 * 0.0035 = 0.5563 * 0.0027  0.5500 * 0.0030 ~ 0.5650 * 0.0019  0.5596 + 0.0022  0.5492 % 0.0029
0.4290 0.4117 £ 0.0039 | 0.4153 * 0.0031  0.4053 % 0.0035  0.4218 % 0.0023  0.4153 + 0.0027 = 0.4021 % 0.0035
0.0399 0.0388 + 0.0004 | 0.0388 * 0.0004 0.0381 % 0.0004 ~ 0.0389 % 0.0004 0.0387 * 0.0003 ~ 0.0379 % 0.0004
0.8500 0.8131 * 0.0011 _ 0.8139  0.0008  0.8133 % 0.0009  0.8138 * 0.0006  0.8135 * 0.0006 _ 0.8134 & 0.0008




a =1.3680, b = 1.0000, alpha = 0.40

Uncategorized
Metric \ Size(+,-) True Value (100,100) (50,150) (20,180)

Az

TPF(.10) (CvBM)
TPF (.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

H
H
H
H
H
H

Categorized at FPF =
Metric \ Size(+,-) (25,25) (50,50) (25,75) (100,100) (50,150)

Az

TPF(.10) (CvBM)
TPF (.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF(.05) (PBM)
PAUC (0<FPF<.1)
W

e
W R
W H
W H
HHHHHH

Categorized at FPF =
Metric \ Size(+,-) (25,25) (50,50) (25,75) (100,100) (50,150)

Az

TPF(.10) (CvBM)
TPF(.05) (CvBM)
pAz (0<FPF<.1)
AUC

TPF(.10) (PBM)
TPF (.05) (PBM)
PAUC (0<FPF<.1)
W

- H
W H
HHHHHH
HHHH
HHHHHH R
W H

a =2.1700, b = 1.0000, alpha = 0.20

Uncategorized

0.8500 0.8540 + 0.0011 0.8518 * 0.0008 0.8530 * 0.0010 0.8509 £ 0.0005 0.8517 £ 0.0007 0.8534 £ 0.0010
0.6703 0.6717 * 0.0022 0.6632 * 0.0016 0.6639 * 0.0019 0.6584 £ 0.0011 0.6566 * 0.0013 0.6603 £ 0.0019
0.5702 0.5835 * 0.0026 0.5736 * 0.0019 0.5709 * 0.0021 0.5677 * 0.0013 0.5628 * 0.0015 0.5637 * 0.0021
0.0533 0.0558 + 0.0003 0.0547 * 0.0002 0.0543 £ 0.0002 0.0540 £ 0.0001 0.0534 = 0.0001 0.0534 £ 0.0002
0.8500 0.8583 + 0.0010 0.8529 + 0.0007 0.8546 * 0.0009 0.8508 £ 0.0005 0.8517 £ 0.0007 0.8543 £ 0.0010
0.6703 0.6733 £ 0.0022 0.6627 * 0.0016 0.6624 * 0.0018 0.6577 * 0.0011 0.6550 + 0.0013 0.6581 * 0.0019
0.5702 0.5882 £ 0.0027 0.5762 £ 0.0019 0.5717 £ 0.0021 0.5694 £ 0.0013 0.5628 + 0.0015 0.5628 * 0.0021
0.0533 0.0564 £ 0.0003 0.0550 £ 0.0002 0.0544 + 0.0002 0.0543 £ 0.0001 0.0535 £ 0.0001 0.0534 * 0.0002
0.8500 0.8497 * 0.0011 0.8498 * 0.0008 0.8498 * 0.0010 0.8500 * 0.0005 0.8501 * 0.0007 0.8504 * 0.0011
Categorized at FPF = (.01, .05, .10, .25)
0.8500 0.8398 + 0.0014 0.8511 + 0.0009 0.8489 £ 0.0012 0.8551 * 0.0006 0.8549 * 0.0008 0.8512 * 0.0013
0.6703 0.6735 £ 0.0023 0.6679 £ 0.0016 0.6674 £ 0.0019 0.6639 £ 0.0011 0.6633 £ 0.0013 0.6645 * 0.0020
0.5702 0.5880 * 0.0029 0.5751 * 0.0020 0.5733 * 0.0022 0.5687 * 0.0014 0.5664 * 0.0015 0.5664 * 0.0022
0.0533 0.0565 £ 0.0003 0.0548 £ 0.0002 0.0546 + 0.0002 0.0540 £ 0.0001 0.0537 £ 0.0002 0.0537 = 0.0002
0.8500 0.8635 £ 0.0010 0.8599 £ 0.0008 0.8608 £ 0.0009 0.8587 £ 0.0006 0.8592 + 0.0007 0.8610 * 0.0010
0.6703 0.6773 * 0.0023 0.6680 * 0.0016 0.6693 * 0.0019 0.6635 * 0.0011 0.6633 * 0.0013 0.6667 * 0.0020
0.5702 0.5850 £ 0.0028 0.5738 £ 0.0020 0.5731 + 0.0022 0.5681 + 0.0014 0.5660 £ 0.0015 0.5669 * 0.0022
0.0533 0.0560 £ 0.0003 0.0546 £ 0.0002 0.0545 £ 0.0002 0.0539 £ 0.0002 0.0537 £ 0.0002 0.0537 = 0.0002
0.8500 0.8343 * 0.0011 0.8345 * 0.0008 0.8346 * 0.0010 0.8347 * 0.0005 0.8349 * 0.0007 0.8348 * 0.0011
Categorized at FPF = (.20, .40, .60, .80)
0.8500 0.8415 + 0.0014 0.8508 £ 0.0009 0.8435 £ 0.0013 0.8528 £ 0.0006 0.8525 £ 0.0008 0.8373 * 0.0015
0.6703 0.6499 + 0.0031 0.6674 £ 0.0021 0.6601 * 0.0026 0.6740 £ 0.0014 0.6710 * 0.0018 0.6568 £ 0.0027
0.5702 0.5628 * 0.0038 0.5826 * 0.0026 0.5719 * 0.0032 0.5914 * 0.0018 0.5857 * 0.0022 0.5673 * 0.0034
0.0533 0.0530 + 0.0004 0.0558 + 0.0003 0.0538 £ 0.0004 0.0566 £ 0.0002 0.0560 * 0.0002 0.0522 £ 0.0004
0.8500 0.8547 £ 0.0011 0.8561 + 0.0008 0.8567 * 0.0010 0.8565 + 0.0006 0.8573 £ 0.0007 0.8568 * 0.0011
0.6703 0.6514 * 0.0029 0.6693 £ 0.0021 0.6595 * 0.0025 0.6783 +* 0.0014 0.6736 * 0.0017 0.6541 * 0.0026
0.5702 0.5610 * 0.0036 0.5875 £ 0.0026 0.5694 + 0.0032 0.6010 * 0.0018 0.5921 + 0.0022 0.5588 * 0.0034
0.0533 0.0538 + 0.0004 0.0565 £ 0.0003 0.0547 £ 0.0004 0.0578 £ 0.0002 0.0569 + 0.0002 0.0537 * 0.0004
0.8500 0.7990 * 0.0012 0.7992 + 0.0008 0.7990 * 0.0010 0.7994 * 0.0006 0.7993 * 0.0007 0.7992 * 0.0010




